

L'Hospital's Rule

$$(1) \lim_{x \rightarrow 2} \frac{x^3 - 8}{x^4 + 2x - 20} = \frac{0}{0}$$

$$\text{I} \Rightarrow \lim_{x \rightarrow 2} \frac{3x^2}{4x^3 + 2} = \frac{3 \cdot 2^2}{4 \cdot 2^3 + 2}$$

$$= \frac{12}{34} \quad \boxed{\frac{6}{17}}$$

$$(3) \lim_{x \rightarrow 0} \frac{e^x - x - 1}{\cos x - 1} = \frac{e^0 - 0 - 1}{\cos 0 - 1} = \frac{0}{0}$$

$$\text{I} \Rightarrow \lim_{x \rightarrow 0} \frac{e^x - 1}{-\sin x} = \frac{e^0 - 1}{-\sin 0} = \frac{0}{0}$$

$$\text{II} \Rightarrow \lim_{x \rightarrow 0} \frac{e^x}{-\cos x} = \frac{e^0}{-\cos 0} = \frac{1}{-1} \quad \boxed{-1}$$

$$(5) \lim_{x \rightarrow 3} \frac{2x^2 - 5x - 3}{x - 4} = \frac{2 \cdot 3^2 - 5 \cdot 3 - 3}{3 - 4} = \frac{0}{-1}$$

$$(7) \lim_{x \rightarrow 9} \frac{x^{1/2} + x - 6}{x^{3/2} - 27} = \frac{0}{0} \quad \boxed{0}$$

$$(9) \lim_{x \rightarrow \infty} \frac{x^2}{e^x} = \frac{\infty}{\infty}$$

$$\text{I} \Rightarrow \lim_{x \rightarrow \infty} \frac{2x}{e^x} = \frac{\infty}{\infty}$$

$$\text{II} \Rightarrow \lim_{x \rightarrow \infty} \frac{2}{e^x} = \frac{2}{\infty}$$

$$\lim_{x \rightarrow \infty} 2e^{-x} =$$

$$2 \cdot \lim_{x \rightarrow \infty} e^{-x}$$

$$2 \cdot 0$$

$$\boxed{0}$$

$$(11) \lim_{x \rightarrow -\infty} \frac{\ln(x^4 + 1)}{x} \quad \frac{\infty}{-\infty}$$

$$I \lim_{x \rightarrow -\infty} \frac{1}{\frac{x^4 + 1}{1}} + x^3$$

$$= \lim_{x \rightarrow -\infty} \frac{4x^3}{x^4 + 1} \quad \frac{-\infty}{\infty}$$

$$II \lim_{x \rightarrow -\infty} \left(\frac{12x^2}{4x^3} \right) \quad \frac{3}{x}$$

$$\lim_{x \rightarrow -\infty} \frac{3}{x} = 3 \cdot \lim_{x \rightarrow -\infty} \frac{1}{x} = 3 \cdot 0 = \boxed{0}$$

$$(13) \lim_{x \rightarrow 0} \frac{\tan(x)}{x} \quad \frac{0}{0}$$

$$I \lim_{x \rightarrow 0} \frac{\sec^2(x)}{1} = \lim_{x \rightarrow 0} \sec^2(x)$$

$$(15) \lim_{x \rightarrow 0^+} x \ln(x) \quad \text{HP} \quad \begin{aligned} 0 \cdot (-\infty) &= \sec^2(0) = [\sec(0)]^2 \\ &= \left[\frac{1}{\cos(0)} \right]^2 = 1^2 = \boxed{1} \end{aligned}$$

$$= \lim_{x \rightarrow 0^+} \frac{\ln(x)}{\frac{1}{x}} \quad \frac{-\infty}{\infty}$$

$$I \lim_{x \rightarrow 0^+} \left(\frac{\frac{1}{x}}{-\frac{1}{x^2}} \right) \quad \frac{\frac{1}{x} \cdot -x^2}{-x} \quad \begin{aligned} &\lim_{x \rightarrow 0^+} (-x) \\ &= \lim_{x \rightarrow 0^+} x \\ &= 0 \cdot 0 = \boxed{0} \end{aligned}$$

$$(17) \lim_{x \rightarrow 1} \tan\left(\frac{\pi x}{2}\right) \ln(x) \quad \tan\left(\frac{\pi}{2}\right) \cdot \ln(1) \\ \infty \cdot 0 \\ \text{IP}$$

$$= \lim_{x \rightarrow 1} \frac{\ln(x)}{\frac{1}{\tan\left(\frac{\pi x}{2}\right)}} = \lim_{x \rightarrow 1} \frac{\ln(x)}{\cot\left(\frac{\pi x}{2}\right)} \quad \frac{0}{0}$$

$$\stackrel{\text{H}}{=} \lim_{x \rightarrow 1} \frac{\frac{1}{x}}{-\csc^2\left(\frac{\pi x}{2}\right) \cdot \frac{\pi}{2}}$$

$$= \lim_{x \rightarrow 1} \frac{1}{-\frac{\pi}{2} x \csc^2\left(\frac{\pi x}{2}\right)}$$

$$= \lim_{x \rightarrow 1} \frac{\sin^2\left(\frac{\pi x}{2}\right)}{-\frac{\pi}{2} x} \quad \frac{\sin^2\left(\frac{\pi}{2}\right)}{-\frac{\pi}{2}} \quad \frac{1^2}{-\pi/2}$$

$$\boxed{-\frac{2}{\pi}}$$

0 · ∞ IP

$$(19) \lim_{x \rightarrow \infty} e^{-x} (x^3 - x^2 + 9)$$

$$= \lim_{x \rightarrow \infty} \frac{x^3 - x^2 + 9}{e^x} \quad \frac{\infty}{\infty}$$

$$\stackrel{\text{H}}{=} \lim_{x \rightarrow \infty} \frac{3x^2 - 2x}{e^x} \quad \frac{\infty}{\infty}$$

$$= \lim_{x \rightarrow \infty} \frac{6x - 2}{e^x} \quad \frac{\infty}{\infty}$$

$$\stackrel{\text{H}}{=} \lim_{x \rightarrow \infty} \left(\frac{6}{e^x}\right) 6e^{-x}$$

$$\lim_{x \rightarrow \infty} 6e^{-x}$$

$$6 \lim_{x \rightarrow \infty} e^{-x} \\ 6 \cdot 0$$

$$\boxed{0}$$

$$= \lim_{x \rightarrow 4} \left[\frac{x - 4\sqrt{x} + 4}{x\sqrt{x} - 2x - 4\sqrt{x} + 8} \right]$$

$$= \lim_{x \rightarrow 4} \left[\frac{x - 4\sqrt{x} + 4}{x^{3/2} - 2x - 4x^{1/2} + 8} \right]$$

$$\stackrel{I}{=} \lim_{x \rightarrow 4} \left[\frac{1 - \frac{4}{2\sqrt{x}}}{\frac{3}{2}x^{1/2} - 2 - 4 \cdot \frac{1}{2}x^{-1/2}} \right]$$

$$\stackrel{II}{=} \lim_{x \rightarrow 4} \left[\frac{1 - \frac{2}{\sqrt{x}}}{\frac{3}{2}\sqrt{x} - 2 - \frac{2}{\sqrt{x}}} \right] \quad \begin{array}{l} \text{---} \sqrt{x} \\ \hline \sqrt{x} \end{array}$$

simplify

$$= \lim_{x \rightarrow 4} \left[\frac{\sqrt{x} - 2}{\frac{3}{2}x - 2\sqrt{x} - 2} \right] \quad \begin{array}{l} 0 \\ 0 \end{array}$$

$$\stackrel{I}{=} \lim_{x \rightarrow 4} \left[\frac{\frac{1}{2\sqrt{x}}}{\frac{3}{2} - \frac{2}{\sqrt{x}}} \right] = \frac{\frac{1}{2\sqrt{4}}}{\frac{3}{2} - \frac{1}{\sqrt{4}}}$$

$$\frac{\frac{1}{2 \cdot 2}}{\frac{3}{2} - \frac{1}{2}} = \frac{\frac{1}{4}}{1} = \frac{1}{4}$$

(21) $\lim_{x \rightarrow \infty} \frac{e^{2x} - 1 - x}{x^2}$ $\frac{\infty - \infty}{\infty}$ indeterminate

$$\lim_{x \rightarrow \infty} \frac{e^{2x}}{x^2} - \frac{1}{x^2} - \left(\frac{x}{x^2} \right) \frac{1}{x}$$

$$\lim_{x \rightarrow \infty} \frac{e^{2x}}{x^2} - \frac{1}{x^2} - \frac{1}{x}$$

$$\lim_{x \rightarrow \infty} \frac{e^{2x}}{x^2} - \lim_{x \rightarrow \infty} \frac{1}{x^2} - \lim_{x \rightarrow \infty} \frac{1}{x}$$

$\frac{\infty}{\infty} \quad \quad \quad \frac{0}{\infty} \quad \quad \quad \frac{0}{\infty}$

$$\text{I} \parallel \lim_{x \rightarrow \infty} \frac{e^{2x} \cdot 2}{2x} = \lim_{x \rightarrow \infty} \frac{e^{2x}}{x} \quad \frac{\infty}{\infty}$$

$$\text{II} \parallel \lim_{x \rightarrow \infty} \left(\frac{e^{2x} \cdot 2}{1} \right) = \lim_{x \rightarrow \infty} 2e^{2x}$$

$$= 2 \lim_{x \rightarrow \infty} e^{2x} \quad \frac{2 \cdot \infty}{\infty}$$

(23) $\lim_{x \rightarrow 4} \left[\frac{1}{\sqrt{x}-2} - \frac{4}{x-4} \right]$ $\infty - \infty$

algebra

$$= \lim_{x \rightarrow 4} \left[\frac{x-4 - 4(\sqrt{x}-2)}{(\sqrt{x}-2)(x-4)} \right] \quad \lim_{x \rightarrow 4} \left[\frac{x-4\sqrt{x}+4}{(\sqrt{x}-2)(x-4)} \right]$$

$\frac{0}{0}$

$$= \lim_{x \rightarrow 4} \left[\frac{x-4-4\sqrt{x}+8}{(\sqrt{x}-2)(x-4)} \right]$$

(25) $\lim_{x \rightarrow 0} \left[\frac{1}{\sin x} - \frac{1}{x} \right] \quad \infty - \infty$
 algebra

$= \lim_{x \rightarrow 0} \left[\frac{x - \sin x}{x \sin x} \right] \quad \frac{0 - \sin 0}{0 \sin 0} \quad \frac{0 - 0}{0 \cdot 0} \quad \frac{0}{0}$

$= \lim_{x \rightarrow 0} \frac{1 - \cos x}{x \cos x + \sin x} \quad \frac{1 - \cos 0}{0 \cos 0 + \sin 0} \quad \frac{1 - 1}{0 \cdot 1 + 0}$

$= \lim_{x \rightarrow 0} \frac{\sin x}{-x \sin x + \cos x + \cos x} \quad \frac{0}{-0 \cdot \sin 0 + \cos 0 + \cos 0} \quad \frac{0}{2}$

(27) $\lim_{x \rightarrow 0^+} x^x \quad 0^0 \quad \pm \text{power}$

let $y = x^x$; $\ln y = \ln(x^x)$; $\ln(y) = x \ln x$

$\lim_{x \rightarrow 0^+} \ln(y) = \lim_{x \rightarrow 0^+} x \ln x \quad 0 \cdot -\infty$

$y = \lim_{x \rightarrow 0^+} \frac{\ln x}{\frac{1}{x}} \quad \frac{-\infty}{\infty} \quad \pm a$

$= \lim_{x \rightarrow 0^+} \left(\frac{\frac{1}{x}}{-\frac{1}{x^2}} \right) \quad \frac{\frac{1}{x} \cdot -x^2}{(-x)}$

$= \lim_{x \rightarrow 0^+} -x = 0$

as $x \rightarrow 0^+$; $\ln(y) \rightarrow 0$; $e^{\ln(y)} \rightarrow e^0 = \underline{1}$

$$y \rightarrow \underline{1}$$

$$(29) \lim_{x \rightarrow \infty} x^{\frac{1}{x^2}} \infty^0$$

$$\text{let } y = x^{\frac{1}{x^2}} ; \ln y = \ln \left(x^{\frac{1}{x^2}} \right)$$

$$\ln(y) = \frac{1}{x^2} \ln(x)$$

$$\lim_{x \rightarrow \infty} \ln(y) = \lim_{x \rightarrow \infty} \frac{\ln x}{x^2} \quad \frac{\infty}{\infty}$$

$$= \lim_{x \rightarrow \infty} \left(\frac{\frac{1}{x}}{2x} \right) \quad \frac{\frac{1}{x} \div 2x}{\frac{1}{2x^2}}$$

$$\lim_{x \rightarrow \infty} \frac{1}{2x^2}$$

$$\frac{1}{2} \lim_{x \rightarrow \infty} \frac{1}{x^2} \quad \frac{1}{2} \cdot 0 \quad (0)$$

as $x \rightarrow \infty$; $\ln(y) \rightarrow 0$; $e^{\ln(y)} \rightarrow e^0$

$$(31) \lim_{x \rightarrow 0} [\cos(x)]^{\frac{3}{x^2}} \quad 1^\infty \quad y \rightarrow \underline{1}$$

$$\text{let } y = [\cos(x)]^{\frac{3}{x^2}} ; \ln(y) = \ln \left[[\cos(x)]^{\frac{3}{x^2}} \right]$$

$$\ln(y) = \frac{3}{x^2} \ln[\cos(x)]$$

$$\lim_{x \rightarrow 0} \frac{3 \ln [\cos x]}{x^2} \quad \frac{0}{0}$$

$$\text{II} \quad \lim_{x \rightarrow 0} \frac{3 \cdot \frac{1}{\cos x} - \sin x}{2x}$$

$$= \lim_{x \rightarrow 0} \frac{-3 \tan x}{2x} \quad \frac{0}{0}$$

$$\text{II} \quad \lim_{x \rightarrow 0} \frac{-3 \sec^2 x}{2} = -\frac{3}{2} \lim_{x \rightarrow 0} \sec^2 x$$

$$= -\frac{3}{2} [\sec 0]^2 = -\frac{3}{2} \left[\frac{1}{\cos 0} \right]^2$$

$$= \left(-\frac{3}{2} \right)$$

$$\text{as } x \rightarrow 0, \ln y \rightarrow -\frac{3}{2}$$

$$e^{\ln y} \rightarrow e^{-3/2}$$

$$y \rightarrow \left[\frac{1}{e^{3/2}} \right]$$